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(i) ENGLISH (Paper - II)
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01) a)

b)

All Sections are compulsory
Section - A

Read the following passage and answer the questions that follow. Q)

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drifter,
he wondered how he would survive the harsh winter. He knew he would get food
and shelter in jail, if only he could manage to get caught while committing a petty

crime.

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk
umbrella had been set by the door on entering. Soapy stepped inside the store,
took the umbrella and sauntered off with it slowly. The man asked for his

umbrella but Soapy asked him to call a cop-who was standing at the corner.

1)  What had Soapy been unsuccessful at?

i)  Why did Soapy want to get arrested?

iiil) What was the well-dressed man doing?

iv)  Where did the man put the umbrella?

v)  Soapy drew the attention of the umbrella owner to a police man because
1)  he wanted to run away.
2)  he wanted to keep the umbrella.

3) he wanted to get arrested.
Read the passage and answer the questions. Q)

Knowledge has always been the prime mover of prosperity and power. The
acquisition of knowledge has therefore been the thrust area throughout the world.

Additionally in India, there has been a culture of sharing it, not only through the



tradition of guru- shishya but also by its spread to neighbouring countries through

travellers who came to Nalanda and other universities drawn by their reputation as

centres of learning. India is endowed with many advantages and competencies but

these are scattered in isolated pockets and the awareness of these is inadequate.

i)  From which lesson is this passage taken?
ii)  Who is the author of this?

iii)  What is the main mover of prosperity?
iv) How is knowledge shared in India?

v)  What is the problem with India’s advantages and competencies?

02) Answer any Two of the following in not more than 100 words each.

03)

04)

05)

a)
b)
c)
d)

Why did Gandhi feel that he had to simplify his life?

How does ‘Man’s Peril’ bring out Russell’s thinking about nuclear weapons?

What are the good qualities of writing according to L.A. Hill?
Bring out the central theme of ‘The Drunkard’.

Answer any One of the following in about 200 words.

a)
b)

c)

b)

How according to Kalam can a knowledge society be built?
Comment on Orwel’s ‘Shooting an elephant’.

What are the main ideas expressed in ‘Pecuniary Independence’.

Section - B
Answer any ONE in not more than 100 words.
i)  Bring out the theme of love in ‘The Last Ride Together’.
ii)  Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’.
iii)  Justify the title ‘Mending Wall’.
Explain any ONE of the following:
i)  He is all pine and I am apple orchard.
ii)  This is my son, mine own Telemachns.

iiil) We slowly drove — He knew no haste.

Answer any One of the following in about 200 words.

a)
b)

c)

Discuss the theme of relationship in ‘Mending Wall’.
Bring out Keats’ love for nature.

Justity the title ‘The Last Ride Together’.

2x4=8)

(7

(C))

(C))

(6)



Section — C

06) Answer any One of the following in about 200 words. (6)
a) Discuss ‘The Lottery Ticket’ as a study of human psychology?
b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship.
c) Comment on the central theme of ‘Ha’penny’.

Section - D

07) Read the following passage and summarize it. Q)
Freedom has given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and narrowness of outlook. Our freedom suggests
toil and creation of new values. We should so discipline ourselves as to be able to
discharge our new responsibilities. We should put into action our full capacity. Work
unceasing work should be our watch-word. Work is wealth and service is happiness.
The greatest crime in India today is idleness. Each one should work honestly, this is the
fundamental law of progress. Next to honest work is the habit of respecting other
people’s feelings. The law of love is a practical code of life.

08) Write an essay on one of the following: Q)
a) My ambition.
b) Women empowerment.
¢) Education.

09) Answer any one of the following: Q)
a)  Write a report on ‘The Republic Day’ programme in your college.
b)  Write a report on a musical concert held in your city.

Q10) Use four of these idioms and phrases in sentences of your own. )

a) lookup to

b) bed of roses

c) crocodile tears
d) hand in glove
e) hand to mouth
f)  atarm’s length
g) close-fisted

h)  in a nutshell



Q11) Answer any ONE of the following: S
a)  Write a dialogue between two friends on the problem of unemployment.
b)  Write a letter to your friend congratulating him for topping his college.

c)  Write a letter to the commissioner about the problem of bad roads.

F
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Q1) Answer any two questions: [2x10=20]
A1 I forEd |
a) Write the brief story of Nagananda.

02)

03)

b)

c)

d)

b)

AT, I HAT forad |

Explain the dramatic skill of Bhasa with illustrations
IS SUgaTIed FyamT e |

Sketch the character of Baladeva.

A AT HEd |

Write the story of “Sri Krishnasya Mytri

How did viswamitra become Brahmarshi? [1x10=10]
fof: %9 s sya?
Y1

Write an essay introducing “Acharya Sri Ramachandradi”

A= ot THegehd: RS e foea |

Explain any two of the following with refer to context. [2x3=6]
FeaTi TG T |

a) T gf & e wafxr |

b) IR TE: |

¢) T CEHYTId TEIy |

d) ¥ ¥ % = Gu: |

e) T W@ UG |

f) forises T & forirha=nnd |

g) ¥ oy whrm |

h) T shdeaamer: o Tom: |



04) Write short notes on any two of the following [2x4=38]
g F@?.%Fl forea |
a) arfa: |
b) TEEAH
¢) NI
d) EDLCH

05) Define and illustrate any two alankaras [2%x3=6]
A 3T T AU forea |
a) &I
b) 3@'@:
¢) TR,

d) 39HT

06) Write the forms of any four of the following sabdas. [4%x2=8]
=qurt ffesefaafey wwon foaea |
a) WEd (TS31)
b) fegg (fadtam)
¢) g - #ft (qefram)
d) TR - (FE)
e) TS - (T==fY)
f) IrEg - (o)
g) % - (fgefram)

h) “FTerd - (ST

07) Write the forms of any four of the following adding the given termination’s [4 % 1 =4]
T AecTeT ATt fored |
a) ¥ (Fdaq)
b) T ()
¢) i ()
d) 3 (39)
e) o ()
f) 93 (441)
g) & ()
h) ™ (999)

08) Translate any four sentences in to Telugu or English. [4%x2=8§]
TquTt AR o |



a) GLd: FdT: T |

b) JT TS qAT TS |

¢) EIG S

d) g S |

e) W5 M T Hfed |
f) e siwd foem |

g) ol Terfa Tfera: |

h) eeha AYL e |

SISIS)



(DHIN21(NR))

Total No. of Questions : 6] [Total No. of Pages : 02
B.A./B.Com./B.Sc¢/.B.B.M/B.B.A./B.H.M DEGREE EXAMINATION,
MAY -2017
(Examination at the end of Second Year)

HINDI
(Paper — IT (NR))
Time : 3 Hours Maximum Marks : 70
SECTION - A

01) TmafafEa s =t T s fifs |

a) i)

¢) i)

Th T T o, Teh T foeamd |
@i afcetd TATY 4, FTaeh darsie ||
GRE

«ifgm R o= 1, @y 7 AR =iy

&l M AT g, el L q@m |17

heRdl 3T oW | Fed! @ foh I

HER IE a1 @ fob I Wl & q

Bl Hehd B, T WAT SHHTAT &1 &l Tehell ||
SRE

IR § J Jd gL Ye 99d g,

3R T -3¢ I hl 3T el |

@ ¥ 9@ 3118 I« 9,

SraT-ur faeman | 91 urd |

ST gH, TR ST fova &k § et R stretien |

SH-qH-T g3 9 A%, Mfget Tgid &1 33} 378 |
e

J-Yedeh, JT-HEATI,

P -HETEh, & FER |

ﬂ"T—ﬁ"ﬁﬁT,ﬂ’T—qﬁﬁ,

-1 qh T HT THEHR |

02) foeht v Hfaar w1 awm fafEu |

a) Toege |
b) fisH T IN-I=AT T I |
¢) hepAT ST UTITAY |

(18)

(10)



03)

04)

05)

006)

et s wfa =1 gim &S |
i) JoEEH |
j) Tyt &g fere |

k) SRR S91G |

foreht T fowar w freg fafeaw | (10)
e) JEahH |

f) <A |

g) TRITERUT-Sgyl |

h) T@-JT |

i) g |

foreht T wifee fowa w fey faReaw | (10)
a) 3Tcehtar aRfefo= w gt ifere |

b) F0T 9tk 3R FLEE St 1 qi=> G |

¢) THYRE g 3R qerie w1 ai=d Eie |

d) e o TIhmE TR SRS J9Tg o1 9=y €T |

Frfeied e =1 '&eqt § 31emg HIT | (12)
On the bank of river Penna, there was a village called Perur. In Perur, there lived a
poor Brahmin. His wife was on Orthodox. They did not have any children. They lived
in a small hut. There was a lime tree behind the hut. It bore many fruits. The couple
sold and lived on the income. The tree was to them dear as a son.

SISIS)

(10)
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(Examination at the end of Second Year)
(iii) Science & Civilization (Part - I)

Time : 1% Hour Maximum Marks : 50

SECTION - A (2x13=26)
Answer any two questions

Q1) Explain briefly about the Babylonians.
25029 DOIDS 0O (08 HSOO0TOG.

02) Explain briefly about invention of wheel and its role in industrialization.
B 008, BDETEH0 SO0 PO F2EOEGEI0S ol G308, B DIOOTIO.

03) Describe briefly about effect of modern agriculture on environment.
BEODE $355TVP0ID0 HOD HOVHSEIOD IS DS5O0TS0s.

04) What do you understand by “Bio-War”’? Explain with suitable examples.

“855-00EHN” OBTPBE0? WEE GresRCHed® BO0BOR.

SECTION - B B x4=12)
Answer any three questions

05) a) Paleolithic age.
DOA370OOE A0S H0.
b) X-rays.
DESe0.
c) DDT.
&ése3.

d) Radio.
3&335e.



006)

Q7)

d)

Biogas.
BS5aoaDIE).

Gunpowder.
5505,

SECTION - C

Answer all questions

Who invented Calender?

B0HB50 DS BSETRE?

ICBM means

DD oS

Who invented steam engine

80O ODOTRY DHSD BSOGPTRED _

What is the another name for Vitamin ‘C’?

DEIRS ‘D’ 8 $HOABNE DS DO ?

Choose the correct word.
é&)uo_BJaS D800 (i)goéoé.

a)

b)

Radio invented by

i)  Grahembell

i)  Marconi

iii) Flemming

iv) Darwin

B&CIT BLIE2FO DB
) 50085

i) S22

iil) 38008

V) @S

Which of the following is pesticide
i)  Methane

ii)  Phosphorous

iii) Detergent

iv) DDT
808 TS° DO BOODOSTOES.
) o3&

)  eHoo

B x4=12)



iil) &&Sgoes
a3
iv) &&e3

c) Typhoid is caused by
i)  Female mosquito
ii)  Plasmodium species
iii) Bacteria
iv)  Salmonella Typhi
BPo0s BOBOD ST
1) essssso
i)  pDs,GoHo BHeo
iii) enBoote
V)  oer,Dep &9

08) Match the following:

a) Vitamin B Egg

b) Methaemoglobinaemia Vit-C

c) Scurvey Berry Berry
d) Silver Revolution Nitrates

a) DS D fgalecs

b) &uEBRGETHBRaD DES-C
C) 0,8 8535

d) ey dgsED 33e
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ENVIRONMENTAL STUDIES
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SECTION - A (4 x10=40)
Answer any four of the following
Each question carries 10 marks

Q1) Define Environment and give an account on the structure of atmosphere.

D0 E5BEFR) DT DO, 0WEBHTEO AI0E,), DOR,EENBO BODOL.

02) What are the uses of forest resources and give an account on the consequences of
deforestation.

98 SISO adws, BDO3THSFVOK SO0 B OeBIND HOS B DOLFITOI0

BODN0.

03) Explain in detail about the available water resources and their management practices.

®050230£20658 DY DD 20 SSLVRV SO o3 DT (170 HSO0TSOs.

04) Write the values of the biodiversity.

e§a§§&c§6 DOVSOD 3G TPODHO.

05) Explain the role of bio-geo chemical cycles in maintaining the equilibrium of
ecosystem.

[E5e)r) 65665?\;9 éaﬁom?’g@e?g HOLE), BH-2R-BJONS  HSO0TTee OBJJé& @agéo
DH5O0508.

06) Enumerate sources, effects and control measures of air pollution.

POID See0F)g, SPBHPLV, ISRV FOOOTD DODOBEHD HLBOOID (37PY B0D0b%.

07) How can we manage solid waste?

POD&E DROIO DD DT3T00TIIOED ?



08) Explain the following:

a) Urbanization.
b) Global climate change.

§o@ 00830 DIO0TI0L:

a) DHEBEG0D.
b) Do eBSSEs BIEY.

SECTION - B (3 x20=60)
Answer any three of the following

09) Write about the aims, objectives and scope of the environmental studies.

DOEBED WEI;OIDTO O30, OFP_ &0, BBOTTD SOOIV WSTPTFoOI) BODOL.

010) Describe uses of mineral resources and impact of mining on the environment.

PR HHB0O CAVE; VDIBTRON OO (0O BHBO  HOS 6’30365569303.3 (915}
FSIALSISSS SR S TeRvieTeY

Q11) Explain in detail about conservation of bio-diversity with suitable examples.

BBBO S DOBFET HEPTOOID DTS BEIRTSROSE® DHO0TOL.

Q12) Write the structure and functions of an ecosystem.

BSSE D0 O, HEOLD SOOI DTR,EIFIVDD 5708 P00 L.

Q13) What are the various characteristics of population? Explain.

BTEIP G0, OFESD DO ? DSOOTIO.

Q14) Explain the following:

§o@ 00830 DSO0TI0L:

a) Acid rains.

85 éo?qe)o.



b)

d)

Ozonelayer depletion.

&e8S ot 895.

Disaster management.

DB DOVBOO DT Tes.
@

Indoor pollution.
(3)830 S0e0&0.
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B.A. DEGREE EXAMINATION, MAY - 2017

(Examination at the end of Second Year)
MATHEMATICS - 11
Solid Geometry & Real Analysis

Time : 3 Hours Maximum Marks : 70

SECTION — A (8x3=24)
Answer all the following questions
Each question carries 3 marks

Q1) Find the equations of the planes bisecting the angle between the planes
x+2y+2z-3=0,3x+4y+12z+1=0 and specify the one which bisects the acute
angle.
x+2y+2z-3=0,3x+4y+12z+1=0 Sosive H¢; S%n VOO, POBD BOKD

B0, @050 DO @089 HEOE); POTBD BOHD DO ?

~1_y-3 z-2

02) Find the distance of point (3, 8, 2) from the line al 2

measured parallel

to the plane 3x+2y—-2z+15=0.

x—=1 y-3 z-2
4

(3, 8, 2) Moty Sood BH oo Smean 3x+2y—2z+15=0

$e3008 DBTP0BSO TP B0E[0K0.

03) Show that the plane 2x-2y+z+12=0 touches the Sphere
x> +y* +2z°—2x—4y+2z-3=0 and find the point of contact.
x4+’ 425 -2x—4y+2z-3=0 S%pg  2x-2y+z+I12=0 Beosn {YBoHdd
TSTeEDD0.

04) Find the equation to the right circular cylinder whose guiding curve is
X*+y* +2°=9, x—y+z=3.
OFBODE BB X +)° +2°=9, x—y+2=3 00 Bo ©oe HBODH WRDHED DEOBSHHN
E806°:5000. '

05) Show that nv/n=1.

n\/;=1 O 53D,

06) Everybounded sequence has the greatest and the least limit points.
OB HOERTOZHROS 505) HOOOTN BT BB IO LVOLIPAW.



Q7) Show that f(x) :% has an ordinary discontinuity at x = 0.
l-e’~

1
S (X)=—— 5001008 x = 0 5 Doeretses DYFSDOGD SPHOG.

1/~ @

08) Show that f (x)=xsin(%),x¢0; f(x)=0,x=0 is continuous but not derivable at

x=0.

f(x)=xsin(%),x¢0; F(x)=0,x=0 Ao 565 x = ) SEoHED SHYHO ODBD
500 OBZODODO Foe.

09) a)

b)

010) a)

SECTION - B (4 x 112=46)

Answer all questions

Each question carries 11", marks

A variable plane makes intercepts on the axes, the sum of whose squares is k°,
show that the lows of the foot of the perpendicular from origin to the plane is

(x’2 +y7? +z’2) (x2 +y° +Zz)2 =k*.
B8 o HoH» OEH00P BOM oSS POESLe HoRe B0HED K eond
HaROPVOEID) o0& B3 Bend8  BDS ooddpSS1 DO DHH
(x’2 +y7? +z’2) (x2 +y° +Zz)2 =k*.
Show that the shortest distance between any two opposite edges of a tetrahedran

2
formed by the planes y+z=0,z+x=0,x+y=0 and x+ y+z=a is Tz.

y+z=0,z4+x=0,x+y=0 oo x+y+z=a Bosved DGES SBH,EBS

2a
DEDTEDTD OO 563656 é&)@ &30 00 —— & TATPEDDD.

NG

i) Find the centre and radius of the intersecting circle of the Sphere
X'+ +2°+2x-2y—4z-19=0 and the plane x+2y+2z+7=0.
X+ +27+2x-2y—4z-19=0 &850 x+2y+2z+7=0 Sosn POBED
85500 BOGHW, GRG0 BHOGHIH0.
ii)  Find the limiting points of a Coaxial system of Spheres given by
X'+’ +2° —20x+30y—40z+29+ 1 (2x -3y +4z2)=0.
X2+’ +2°—20x+30y—40z+29+ 1 (2x—3y+4z)=0
DEOBBE50 DIPDOW HIFICEH 95 VORIV BBIGHOHD.



b)

011) a)

b)

012) a)

b)

Find the equation to the right circular cone, whose vertex is origin, axis is
x=t,y=2t,z=3¢ and semivertical angle is 60°.
88,500 $700 DO, ©FH0 X=1,y=21,2=3t Hovokn 02,5 §%550 60" 0o
50 0B FOBIF) DOBGEHNH BHOG2H0HD.

Find the equation of the cylinder whose generators are parallel to the line

—=—=§ and whose guiding curve is the ellipse x> +2y*=1,z=3.

208 Swen %:lzg Ben  wERossENT  ®od X +2y°=1,z=3

as@csée)gm P03IAHE BT O DIPHD D8OBEBES50ED BOGE05W.

State and prove Sandwich theorem or squeeze theorem.
FOBDS B D, 58 10T HHDOD DEPHOWOR.

1

1 .
Prove that the sequence {s,} where s, =——+ t————— + 1s
n+l n+2 n+n
convergent.
1 1
s, =——+ +————- + (oL TN 1) {Sn} BOHOEN0  DDOOLD
n+l n+2 n+n
530508,

State and prove Absolute Maximum — Minimum theorem.

508 - BOY E’ocgom@ DIDVOD DBFDoS0bk.

Show that the function f defined by f(x)=x’, is uniformly continuous in
[-2.2].

f()=x" &% 2500085 Hibodan [-2,2] & Dscrd ©dYFore
000G TSTPHO.

State and prove Lagrange’s mean-value theorem.
BJe0ed S0EI;E0 0T E’ocgom@ DI DO DEFPDOTTOL.

A
Evaluate I (sec4 x—tan’ x)dx.
0

7
(sec4 x—tan’ x)dx 20 OO0,
0

If f:[a,b]—>R is Monotonic on [a, b] then f'is integrable on [a, b].
S &3oamo [a, b] &8 HBDHo ©wond [a, b] §ois HHREedAD0.

dx<—.

1
Prove that —< >
01+ x T

T

Ilsin X 2



1
7=

1sin 77x
01+ x?

2
dx <= @ S5PH0b.
T
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B.A. DEGREE EXAMINATION, MAY - 2017

(Examination at the end of Second Year)
ECONOMICS - II (Part - II)
Deve. Economics & Issues in Indian Eco.

Time : 3 Hours Maximum Marks : 70

SECTION — A (2 x8=16)

Answer any Two of the following questions

E)ém B0t HFLD DIBTGIPTILD FFPOTD

Q1) What are the obstacles to the economic development of developing economics?

0B DOEBIEY BT BOSVNHDS B0V BYOG ?

02) Explain the Balanced growth strategy.

DOBDS 5O ?’ocgomg DH5O0508.

03) What are the causes for unemployment in India? Suggest remedies.

35S R S0S8 DEE3 BB 5083000 DD ? ROD DITPOOT) &5IPTIORD DIPDOZDED.
04) Critically examine the Public Distribution System.
BHewe HOBEB &SP DS, E,B00° DSOS

SECTION - B (3 x14=42)

Answer any three of the following questions

E)ém 07268 HFED DETGRTIL FPODOE

05) Explain the role of Small Scale Industries in the economic development of India.

GREBEE BYSDHDS DY B HOFKDO DB (HOOE) SO0V
06) Critically examine the New Industrial Policy 1991.

1991 B83SBS 338)@?&35 LAlaLIS L) QB0DY,7008,50070 HIDONID.

07) Explain the importance of land reforms. How far are they successful in India?

FIRHOK,BE AI0E, DeLBVYPBH DBOOD, FREBHBI0F OO ©F JDESS® DOBBEE
20HS0BRTCIT HSDO0DHD.

08) Explain the role of IDBI in providing finance to Industries in India.

35S R S0S8 DOTIO 89S HBEADO 0O TN 5.5.89.5. FPBD HSO0DED.



09) Explain the present trade policies of the Govt. of India.

BIPBBEE HEHB0 GI0E, DB ST OGO (SR HIBOOTSOs.

Q10) What are the causes and consequences of inequalities in the income distribution?

B30 HORDBS’ DSTPIBOE) SBEFRD SOOOTD T DESRTIOI HSO0DSD?

SECTION - C

Answer any Three of the following questions

DD 078 DFOB DTG0 FPOTOSD

Q11) Globalisation.

Qa’aoff)éciea.

Q12) International Monetary fund.

OB THAD B55.08.
a3 S

Q13) Human Development Index.
3532655308538 DIPDE.
Q14) Green Revolution.

008 HHIBD.

Q15) Sources of Industrial finance.

338)@3&35 OB 357°09e0.

016) Achievements of the five year plans.

5’301:555% éeaa‘z%ée) Qazaeen.

Bx4=12)
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B.A. DEGREE EXAMINATION, MAY - 2017

(Examination at the end of Second Year)
STATISTICS - 1T
Statistical Methods and Inferences

Time : 3 Hours Maximum Marks : 70

SECTION - A
Answer all the Four questions 4x12=48)

Q1) a) Fit a curve of the form y = ae™ to the following data:
88 808 SwOTDE Y = ac™ e BEB0 HOGeDOSOH!

x: 2 3 4 5 6
y: 85 153 33 65 125

b) Explain fitting a quadratic curve by least squares method.
208 DOPSOAITPY DOPHOTHEIB B S0 DBS DIDBOOTIISD.

02) a) Show that correlation coefficient is independent of change of origin and scale.
0TD0D0E DB 327320 2080 sDOAID %&e‘f mc%é) éaséog Q) TIPS,

b) Obtain the angle between the two regression lines and comment.
B0 HBHES TP 80658580 Teared HIDAT &2, OTIOHD.

03) a) Explain maximum likelihood method of estimation.
5508 DogRSDADT VO HLIB DIOEOOTHSD.

b) Explain coriterice of good estimater.
BB YOS 851008 DHTEFD DSOOTITO.

04) a) Define % distribution state its properties.
A _BermasB0ms DLy DORNE0. O SR, HEIESM.

b) Establish relation between t and F distribution.
t sooao F oeresmee 8365, 0080065550088 0eesin.

05) State and prove Neyman-Pearson Lemma for randomised tests.
dﬁade)xgéée)é DHOZOSO B&57S -0008S ?’ocgomg DI DD DTBIDHOTIHSD.



006)

Q7)

08)

29)

a) Explain a large sample test for testing the significance of the difference between
two sample standard deviations.

B0t HABID EHIOTOTIR 8055 DSE oo HOGO LD TG &S HBERD
DHEZO HBOOTOG.

b) Explain paired t-test.
BBEDETBDES -HOZD DSO0TOk.

Explain 7’ -test for independence of attributes.

OHST HEEOSS e VBB -HOEH DSOS

a) Give advantages and disadvantages of non-parametric tests.
OD0RECD HOZ DOFET SO0 OBOZETD BLOG.

b) Explain median test.
ISela el ‘o’Jé‘)ééﬁJ DSO0DB.

SECTION - B (11x2=22)

Answer the following questions

a)  What are the use of regression analysis?
DBEEDSSN FOS GDAZTTLD DD ?

b)  Define multiple correlation coefficient.
20850E DTD0D0E (DESE00 DB WOoTS0.

c)  Scattered diagram.
;DB DHESD.

d)  Sampling distribution.
DBTBID DI BA.

e)  Explain consistency of a data.

58308 JPO DB DSOOTIOAND.

f) Define sufficient estimator.
6’303_66;3 @oémmcﬁg DB D00,
g)  Concept of degrees of freedom.
D BOB O3 830550,

h)  Define F-distribution.
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k)

F-8empes0s50 DE;005080.
Internal estimation.
QOBT) VOTIe.

Level of significance.
aagé@ acgoco 9850830 55.

Power of test.

A

DHOZR IO DB DOEDSD.



